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mplicit Differentlation

2, EX #4: Fln.d 4 S given that
We have been able to differentiate functions that are solved for y explicitly up to this point. Now we wal
to conslder functlons of the type x?
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nt
— 2y® + 4y = 2. Youcan see that It would be quite challenging To
sclve for y as a function of x explicitly.
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Realize differentiation is taking place with respect 1o x @O)g’i dl}' [D{j()/&-ogﬁ\ = 7_)(
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When you differentiate terms Involing x alone, you can differentlate ual

When you differentlate terms Invehving y, you must apply the Chain Rule {because you are
assuming that y is defined implicitly as a differentiable function of x)

GUIDELINES FOR IMPLICIT DIFFERENTIATION

1. Differentiate both sides with respect to x.
2. Colect %urm

7 s on one slde = to all the other terms. @\QJ
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EX#5 Find 2 for +J‘“—e £(3,3) EX#6: Find 2 for (x~y)? + y =6 a1 (0.2)
Ex#2: Find 2o Iy y=8at(32)
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EX#4: Find 2 forx? — y* = 16 a(~5.3)
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